
 Do all working people stop being 

poor? 

 

1) It depends on the conditions of the 

job 

2) Yes, as they start earning money 

3) It depends on the family's savings 

 What is one of the main targets of the 

SDG 1? 

 

1) To eradicate extreme poverty in 

the world 

2) To fight climate change 

3) To build more schools 

 Where is the highest compliance with 

the Global Goal 1 registered so far? 

 

1) In the EU 

2) In the USA 

3) In China 

 What tendency had the global extre-

me poverty rate been showing in the 

last 20 years? 

 

1) Decreased 

2) Stagnated 

3) Risen 

 What is the average number of people 

per household in developing coun-

tries? 

 

1) 6-9 persons 

2) 4-6 persons 

3) 2-4 persons 

 How many children worldwide lived in 

poverty in 2019? 

 

1) 356 million 

2) 56 million 

3) 6 million 

 How many children were living in 

poverty in the world’s richest coun-

tries in 2019? 

 

1) 1 in 5 

2) 3 in 5 

3) None 

 How many women worldwide are 

illiterate due to poverty? 

 

1) 584 million 

2) 84 million 

3) None 

 Which group is more vulnerable to 

sexual exploitation, including traffick-

ing, due to poverty? 

 

1) Women and girls 

2) Men 

3) Men and women 



 How many percent of the global poor 

live in economies affected by fragility, 

conflict and violence? 

 

1) More than 40% 

2) Less than 20% 

3) None 

 Because of climate change, conflicts 

and food insecurity, extreme poverty 

is a big challenge - especially in: 

 

1) Sub-Saharan Africa 

2) Europe 

3) South America 

 By which year will there hopefully no 

longer be hunger in the world accor-

ding to The Sustainable Development 

Goals? 

 

1) 2030 

2) 2040 

3) 2050 

 Goal 1.2 targets that by 2030 the part 

of men, women and children that live 

in poverty .... 

 

1) Be halved 

2) Should not increase further 

3) Be zero 

 Is it mostly men or mostly women 

who live in extreme poverty? 

 

1) Mostly women 

2) Mostly men 

3) It depends on the continent 

 The UN’s Human Development Index 

(HDI) measures a country's level of 

development. Which country was 

number 1 in 2019? 

 

1) Norway 

2) Mexico 

3) Japan 

 What does "microfinance" mean? 

 

1) Small loans for low-income indivi-

duals 

2) Another word for poverty 

3) Low prices on goods and services 

 What are the "basic needs" of a hu-

man? 

 

1) The physiological needs such as 

sleep, food, water, and air 

2) The social needs such as love, app-

reciation, and company 

3) Someone's desire to be seen and 

heard 

 Which African country was the most 

developed country in 2020? 

 

1) Seychelles 

2) Morocco 

3) Niger 



 What percentage of the people in the 

EU-27 were at risk of poverty or social 

exclusion in 2019? 

 

1) 21% 

2) 1% 

3) 11% 

 Which country in Europe was the poo-

rest in 2021? 

 

1) Moldova (Republic of) 

2) Romania 

3) Bulgaria 

 Which country had the highest level of 

economic inequality in 2020? 

 

1) Lesotho 

2) USA 

3) Norway 

 A person living in "extreme poverty", 

lives on how many US dollars a day? 

 

1) Under 1.90 USD a day 

2) Under 5.25 USD a day 

3) Under 10.25 USD a day 

 In 1990, 36% of the world's population 

lived in extreme poverty. What was 

the percentage in 2015? 

 

1) 10% 

2) 20% 

3) 30% 

 How many people were pushed into 

extreme poverty in 2020 because of 

COVID-19? 

 

1) 71 million people or more 

2) 22 million people or more 

3) 10 million people or more 

 How much of the world's wealth is 

owned by the richest 1% of the 

world's population? 

 

1) More than 50 % 

2) About 10 % 

3) About 30 % 

 Niger is one of the world's poorest 

countries. How much of its population 

lives under the poverty line of 1.90 US 

dollars per day? 

 

1) A little less than a half 

2) About a fourth 

3) None 

 Since 1990, the number of people 

living in poverty has fallen worldwide. 

In which part of the world have we 

seen poverty dropping the most? 

 

1) Asia 

2) Africa 

3) South America 



 UNICEF is the UN's Children's Fund. 

They ship out emergency supplies and 

rations to all over the world. Where is 

UNICEF's international warehouse 

located? 

 

1) Copenhagen 

2) New York 

3) Tokyo 



  Since 2014, hunger in the world has: 

 

1) Increased 

2) Decreased 

3) Stagnated 

  How many people globally are estima-

ted to suffer from hunger? 

 

1) About 690 million 

2) About 69 million 

3) No one - nowadays 

  What is the main global health risk? 

 

1) Hunger and malnutrition 

2) HIV 

3) Malaria 

  What are the main objectives of the 

World Food Programme (WFP)? 

 

1) Provide food assistance & cont-

rol food emergencies 

2) Improve food quality 

3) End food waste in the EU 

  What is the name of the UN organi-

zation that leads international efforts to 

defeat hunger? 

 

1) FAO 

2) UNICEF 

3) UNESCO 

  Globally, how many percent of fresh 

water is used for agriculture? 

 

1) 70% 

2) 30% 

3) 50% 

  What is the name of the United Nations 

specialized agency associated with Goal 

2? 

 

1) FAO 

2) UNICEF 

3) IMF 

  Where is the world's most diverse col-

lection of food crop seeds being kept? 

 

1) Norway 

2) Canada 

3) Russia 

  What are, among others, the typical 

primary food products for UNICEF's 

RUTF (Ready-to-use therapeutic food)? 

 

1) peanuts, oil, milk powder 

2) chicken, rice, vegetables 

3) potato, fat, beef 



  How much food is wasted in Sub-

Saharan Africa by consumers? 

 

1) 5% 

2) 10% 

3) 15% 

  At what stage does most food loss oc-

cur? 

 

1) Harvest, storage and transporta-

tion 

2) Food processing 

3) Consumption 

  What sector is the primary emitter of 

ammonia gas? 

 

1) Agricultural sector 

2) Energy sector 

3) Manufacturing 

  How much of the Earth’s land is used 

for agricultural production? 

 

1) 11% 

2) 1% 

3) 21% 

  How much of the produced food world-

wide is wasted? 

 

1) one third 

2) a half 

3) one quarter 

  What percentage of women make up 

the labour force in the agricultural sec-

tor? 

 

1) 43% 

2) 23% 

3) 63% 

  How many litres of water does it take to 

produce 1 kg of avocados? 

 

1) 283 litres 

2) 83 litres 

3) 183 litres 

  What proportion of produced fruit & 

vegetables is wasted each year global-

ly? 

 

1) one half 

2) one third 

3) one quarter 

  New land can be created from oceans, 

seas, riverbeds or lakebeds. What is this 

process called? 

 

1) Land reclamation 

2) Land grabbing 

3) Land economy 



  How much water is needed to produce 

1kg of cotton? 

 

1) 10,000 litres 

2) 5,000 litres 

3) 20,000 litres 

  If recent trends continue, by 2030 the 

number of people affected by hunger 

will … 

 

1) Surpass 840 million 

2) Remain the same 

3) Decrease to 500 million 

  What does it mean to be 

"undernourished"? 

 

1) Lack of vitamins, proteins, and 

fibers you need on a daily basis 

2) When you do not eat enough 

meat 

3) When you do not get enough 

calories 

  Which type of country has never experi-

enced famine? 

 

1) Countries with a functioning 

modern democracy 

2) Countries with a dictatorship 

3) Countries with a monarchy 

  Where in the world do most people live 

in hunger? 

 

1) Sub-Saharan Africa 

2) South America 

3) Asia 

  How many litres of water is needed to 

produce one person's daily intake of 

food? 

 

1) At least 1,500 litres 

2) At least 500 litres 

3) At least 150 litres 

  How many people do not eat enough 

food to be kept healthy? 

 

1) 900 million people worldwide 

2) 9 million people worldwide 

3) None 

  How much of the world's annual food 

production ends up being wasted? 

 

1) About a third 

2) About a fifth 

3) Very little 

  What proportion of deaths among chil-

dren under five is caused by hunger? 

 

1) Almost a half 

2) None 

3) About a fourth 



  What percentage of farmers in develo-

ping countries are women? 

 

1) 50% 

2) 80% 

3) 10% 

  In which type of industry does most of 

the world's population work? 

 

1) Agriculture 

2) Tourism 

3) Fashion 

  What percentage of our global animal-

based protein consumption is derived 

from fish? 

 

1) 17% 

2) 7% 

3) 37% 

  In 2015, the countries of the world ag-

reed on 17 goals to achieve a better and 

more sustainable future for all. What 

goal was set in the fight against hunger? 

 

1) Zero hunger 

2) Half as much hunger 

3) To continue fighting hunger at 

the rate we do now 

  How many kilos of grain is required to 

produce one kilo of beef? 

 

1) 7 kg 

2) 1 kg 

3) 3 kg 



  Between 2000 and 2015, by how 

many years has the lifespan increa-

sed? 

 

1) 7 years 

2) 2 years 

3) 5 years 

  According to the World Health Or-

ganization (WHO), what percentage 

of the world population breathe air 

that is not healthy enough? 

 

1) 30% 

2) 70% 

3) 90% 

  What is a big consequence of air 

pollution? 

 

1) It lowers the level of the Indian 

ocean 

2) It prevents birds from migrating 

3) It decreases human life expec-

tancy 

  Since 2000, vaccination programs 

in the world… 

 

1) ...have contained a meningitis 

pandemic 

2) ...haven't changed anything 

3) ...have decreased 80% of meas-

les case 

  In which SDG has the European 

Union made the most progress? 

 

1) SDG 12 

2) SDG 1 

3) SDG 3 

  Where does under-five mortality 

remain very high? 

 

1) Latin America 

2) Europe 

3) Sub-Saharan Africa and South 

Asia 

  How much has malaria mortality 

been reduced since 2000? 

 

1) It has not been reduced 

2) It has been reduced to one fifth 

3) It has been halved 

  Of the following diseases, which 

one does goal 3 aim to end by 

2030? 

 

1) Chickenpox 

2) Cancer 

3) Tuberculosis epidemic 

  How much was the annual global 

average alcohol consumption in 

2016 among people above 15 years 

old? 

 

1) 16.5 litres per person 

2) 10.2 litres per person 

3) 6.4 litres per person 



  Where was life expectancy the 

highest in 2020, with 85.29 years? 

 

1) Australia 

2) France 

3) Hong Kong 

  What is the most common health 

issue in the world? 

 

1) Suicide 

2) Cancer 

3) Heart disease 

  How many child mortalities under 

the age of 5 occurred globally in 

2019? 

 

1) 12.3 million 

2) 10.3 milion 

3) 5.3 million 

  How many of abortions worldwide 

are unsafe? 

 

1) 42 million 

2) 12 million 

3) 22 million 

  How many people by the age of 45 

and older are lonely globally? 

 

1) 1 out of 4 

2) 2 out of 3 

3) 1 out of 3 

  What percentage of women have 

experienced physical and/or sexual 

violence by their intimate partner 

globally? 

 

1) 10% 

2) 80% 

3) 30% 

  How many people were tested po-

sitive for HIV in 2019? 

 

1) 500 

2) 1 million 

3) 1.7 million 

  Globally, there are more people 

who are... 

 

1) Neither, there is about an equal 

amount of each 

2) Underweight 

3) Overweight 

  What are "waterborne diseases"? 

 

1) Diseases transferred by animals 

living in water 

2) Diseases that cause water to 

build up in the body 

3) Diseases that are transferred 

through polluted and unclean wa-

ter 



  What is the average global life ex-

pectancy? 

 

1) 92 years 

2) 52 years 

3) 72 years 

  What is the most common cause of 

death globally? 

 

1) Traffic accidents 

2) Malaria 

3) Cardiovascular disease 

  What is a pandemic? 

 

1) The Latin word for a liver infecti-

on 

2) A lifestyle disease 

3) An infectious disease spread 

over a large geographical area 

  How many children are born on 

average per woman in China? 

 

1) 2.2 children 

2) 0.9 children 

3) 1.6 children 

  Which of the following kills the 

most people every year? 

 

1) HIV/Aids 

2) Malaria 

3) Air pollution 

  Which of these diseases is water-

borne and can be caused by drin-

king polluted or unclean water? 

 

1) Tuberculosis 

2) HIV 

3) Liver infection 

  Which insect spreads malaria? 

 

1) Ordinary fly 

2) Tick 

3) Mosquito 

  How many children are born every 

minute globally? 

 

1) 30 

2) 130 

3) 230 

  How many lives are saved every 

year thanks to vaccines? 

 

1) About 5 million 

2) About a million 

3) 2 to 3 million 



  How many lives were saved bet-

ween 2000 and 2015 due to the 

measles vaccine? 

 

1) Barely any 

2) About 1 million 

3) About 17 million 

  How many minutes of activity 

should a child aged 5-17 get every 

day? 

 

1) 15 minutes 

2) About 30 minutes to an hour 

3) At least 60 minutes 

  How much of the human body is 

water? 

 

1) About 25 percent 

2) About 75 percent 

3) About 60 percent 

  How many children under five die 

from undernutrition worldwide? 

 

1) About a third 

2) About a tenth 

3) About a half 

  At what age is prevention of un-

dernutrition most critical in a 

child's life? 

 

1) 5-10 years of age 

2) 2-5 years of age 

3) 0-2 years of age 

  In 2016, 2.4 children were born 

globally per woman. How many 

children in average did women give 

birth to in Rwanda in 2016? 

 

1) 4.9 

2) 3.9 

3) 5.9 

  In which year was malaria eradica-

ted in Europe? 

 

1) 1875 

2) 1475 

3) 1975 

  In how many countries do women 

have the right to get paid maternity 

leave? 

 

1) 37 counties 

2) 121 countries 

3) 185 countries 

  According to the UN, how much 

water does one human need to 

cover their basic needs during a 

single day (drinking, hygiene, doing 

dishes, and other things)? 

 

1) 5-10 litres 

2) 1-5 litres 

3) 50-100 litres 



  According to UNICEF, what is the 

second-most frequent disease-

related cause of death among chil-

dren under five? 

 

1) Measles 

2) Influenza 

3) Diarrhea 

  Proteins are important for your 

body, as they help it grow and re-

pair itself. Which of the following 

food contains the greatest amount 

of protein? 

 

1) Spinach 

2) Rice 

3) Peanuts 
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  Globally in 2016, how many chil-

dren aged 6-11 years were not 

attending school? 

 

1) Over 500 million 

2) None 

3) Over 63 million 

  It is harder for girls and women 

than men to have access to educa-

tion. 

 

1) FALSE 

2) It is not a question of gender 

3) TRUE 

  Approximately, how many children 

were still out of school in 2018 

worldwide? 

 

1) 500 million 

2) There were no children out of school 

3) 260 million 

  Which UN agency is mainly re-

sponsible for ensuring compliance 

with SDG 4? 

 

1) FAO 

2) ILO 

3) UNESCO 

  Where do 50% of the out-of-school 

children of primary school age live? 

 

1) In rural areas 

2) In developing countries 

3) In conflict-affected areas 

  One additional year of school can 

increase a woman's earnings by.... 

 

1) up to 10% 

2) up to 30% 

3) up to 20% 

  Which country had in 2018 the 

highest rate of High School gradua-

tes between the age of 25-34? 

 

1) New Zealand 

2) USA 

3) South Korea 

  Which country has the highest per-

centage of early school dropouts in 

the EU? 

 

1) Croatia 

2) Malta 

3) Spain 

  How many children around the 

world do not have access to educa-

tion? 

 

1) 464 million 

2) 64 million 

3) 264 million 



  Which country in the world has the 

longest school year? 

 

1) United Kingdom 

2) China 

3) Japan 

  Which of the following countries 

does not offer higher education for 

free? 

 

1) Syria 

2) Sweden 

3) United Kingdom 

  Which country has the lowest num-

ber of primary school days per ye-

ar? 

 

1) Finland 

2) Sweden 

3) Russia 

  Which of the following continents 

has the highest literacy rate? 

 

1) Oceania 

2) Latin America 

3) Africa 

  Which of the following countries 

spends the most on education, ta-

king into account the total expen-

diture percentage of the GDP? 

 

1) Denmark 

2) USA 

3) Cuba 

  Global Goal 4 has 10 "targets". Tar-

get 4.7 is about… 

 

1) Gender equality in schools 

2) Free education 

3) The need for education specifically 

about the 17 Global Goals 

  Globally, illiteracy has long been 

more common among women than 

men. Is this still the case? 

 

1) No, there are more men who are 

illiterate today in comparison to 

women 

2) Today, the difference has evened out 

3) Yes, because fewer women than 

men go to school 

  Globally, do more women take an 

advanced education compared to 

men? 

 

1) No, there are more men taking an 

advanced education 

2) No, it is about the same for both 

genders 

3) Yes, there are more women taking 

an advanced education 

  What is the greatest global challen-

ge in relation to education? 

 

1) Ensuring access 

2) Ensuring student demand 

3) Ensuring quality 



  Article 28 of the Child Convention 

stipulates that every child has the 

right to… 

 

1) …eat candy at least once a week 

2) …get pocket money 

3) … go to school and get an eduction 

  What does it mean to be 

"illiterate"? 

 

1) That one is unable to distinguish the 

letters in the alphabet 

2) That one lacks proper schooling 

3) That one is unable to read and write 

  Which of the following African 

countries had the smallest illiterate 

proportion of their total population 

in 2016? 

 

1) Nigeria 

2) South Africa 

3) Seychelles 

  Which of the following languages is 

the official language of most Afri-

can countries? 

 

1) Portuguese 

2) English 

3) French 

  The number of students entering 

primary school... 

 

1) ...is stagnating 

2) ...is falling 

3) ...has never been higher than before 

  Which European country has the 

highest illiteracy rate? 

 

1) Turkey 

2) Romania 

3) Malta 

  Which country has the greatest 

number of official languages? 

 

1) South Africa 

2) China 

3) India 

  What percentage of Chad's adult 

population were literate in 2016? 

 

1) 52% 

2) 92% 

3) 22% 

  Where in the world live the most 

people who cannot read and write? 

 

1) Eastern Europe and South America 

2) North and South America 

3) Africa and South Asia 



  How many people in the develo-

ping world have a cell phone? 

 

1) 5 out of 10 

2) 2 out of 10 

3) 8 out of 10 

  How many schools in the develo-

ping world have access to compu-

ters and internet? 

 

1) 1 out of 10 

2) 9 out of 10 

3) 6 out of 10 

  How many years does compulsory 

education last in most European 

Union countries? 

 

1) 8-9 years 

2) 7-8 years 

3) 9-10 years 

  How many years of compulsory 

education is there in India? 

 

1) 5 years 

2) There is no requirement 

3) 8 years 

  Globally, what percentage of chil-

dren that are old enough for prima-

ry school actually attend primary 

school? 

 

1) 75% 

2) 60% 

3) 90% 

  Globally, what percentage of young 

people, old enough for secondary 

school, actually attend a secondary 

school? 

 

1) About 86% 

2) About 36% 

3) About 66% 

  Globally, what percentage of chil-

dren aged 6-11 do not attend 

school? 

 

1) 29% 

2) 19% 

3) 9% 

  Globally, what percentage of adults 

can read? 

 

1) About 96 % 

2) About 66 % 

3) About 86 % 

  What percentage of people older 

than 15 years are literate in develo-

ping countries? 

 

1) 87% 

2) 37% 

3) 63% 



  What percentage of students in 

developing countries end up drop-

ping out before completing primary 

school? 

 

1) 27% 

2) 67% 

3) 47% 

  In 2019, how many of the 18-24 

year olds in the EU were expected 

to be early leavers? 

 

1) 20% 

2) 6% 

3) 10% 

  What percentage of women in Af-

ghanistan are illiterate? 

 

1) About 56% 

2) About 26% 

3) About 76% 

  Why is it important for a country to 

have a well-educated population? 

 

1) People can get better jobs and earn 

more money 

2) It is not important 

3) A well-educated population creates 

opportunities for economic growth in 

society 

  In 1998, only 17.3% of all girls in 

Bhutan started a secondary educa-

tion. What is the number today? 

 

1) About 38% 

2) About 18% 

3) About 68% 

  In which region is the number of 

students studying in higher educati-

on growing the fastest? 

 

1) South America 

2) Middle East and North Africa 

3) East Asia 

  In how many of the 193 countries 

in the world is secondary education 

free? 

 

1) 42 

2) 22 

3) 122 

  In how many of the 193 countries 

in the world is higher education 

(tertiary education) free? 

 

1) 21 

2) 41 

3) 81 

  In how many of the 193 countries 

in the world is basic education 

(primary education) free? 

 

1) 47 

2) 27 

3) 187 



  In 1950, two out of three people in 

the world were illiterate. How are 

we doing today? 

 

1) Slightly better. We have reduced 

global illiteracy with 5% 

2) It has gotten worse. Now, every se-

cond person is illiterate 

3) Much better. Now, only every se-

venth person is illiterate 

  All humans have a right to... 

 

1) Be in a class of their choice 

2) Skip school once a week 

3) Receive free basic education 

  On which continent do most people 

who are not in school live? 

 

1) Asia 

2) South America 

3) Africa 

  The written language dates back to 

3500 BC. In which part of the world 

did the first written language deve-

lop? 

 

1) North America 

2) Southern Europe 

3) Middle East 

    

 

1)   

2)   

3)   

    

 

1)   

2)   

3)   

    

 

1)   

2)   

3)   

    

 

1)   

2)   

3)   

    

 

1)   

2)   

3)   



    

 

1)   

2)   

3)   

    

 

1)   

2)   

3)   

    

 

1)   

2)   

3)   

    

 

1)   

2)   

3)   

    

 

1)   

2)   

3)   

    

 

1)   

2)   

3)   

    

 

1)   

2)   

3)   

    

 

1)   

2)   

3)   

    

 

1)   

2)   

3)   



    

 

1)   

2)   

3)   

    

 

1)   

2)   

3)   

    

 

1)   

2)   

3)   

    

 

1)   

2)   

3)   

    

 

1)   

2)   

3)   



  How many countries still penalize ho-

mosexuality? 

 

1) 42 

2) 12 

3) 72 

  Which country was the first country to 

withdraw transidentity from the mental 

illness list? 

 

1) Canada 

2) Belgium 

3) Denmark 

  Which of the following European coun-

tries was the last to allow women to 

vote? 

 

1) Spain 

2) Poland 

3) Liechtenstein 

  What was the percentage of female 

European parliamentarians in 2019? 

 

1) 12% 

2) 80% 

3) 36% 

  Which three countries are best at gen-

der equality? 

 

1) Germany, Finland and France 

2) USA, Japan and China 

3) Iceland, Norway and Sweden 

  What is one of the most important keys 

to create more development in the 

world's poorest countries? 

 

1) New machines 

2) Rain 

3) Women 

  Which of the following is one of Goal 5 

targets? 

 

1) Reduce climate change 

2) Maintain diversity in food production 

3) Eliminate forced marriages 

  Which country was the no. 1 on the 

Gender Gap Equality Index rankings in 

2020? 

 

1) Finland 

2) Norway 

3) Iceland 

  Where did the Women Rights Move-

ment begin in 1848? 

 

1) United Kingdom 

2) France 

3) USA 



  According to UNDP, how many coun-

tries lack laws to protect women aga-

inst domestic violence? 

 

1) 19 

2) 9 

3) 49 

  What is the best result of gender equa-

lity so far? 

 

1) There are no results 

2) Higher income per households 

3) Fewer girls are forced into early 

marriages 

  In 2018, which country still did not 

allow women to drive? 

 

1) Iran 

2) Afghanistan 

3) Saudi Arabia 

  Which country has the highest percen-

tage of female genital mutilation cases? 

 

1) Sudan 

2) Egypt 

3) Somalia 

  Child marriage is still a common prac-

tice nowadays in one of the following 

countries. Which one? 

 

1) USA 

2) India 

3) Yemen 

  In one of the following countries, 

getting married to rape victims can 

exonerate the rapist so that they avoid 

punishment. Which one? 

 

1) United Kingdom 

2) Sweden 

3) Jordan 

  What percentage of the global workfor-

ce are women? 

 

1) 19% 

2) 29% 

3) 39% 

  Which countries spend the most on 

research and development when mea-

sured as a percentage of GDP? 

 

1) Switzerland and Japan 

2) USA and China 

3) South Korea and Israel 

  What percentage of the world’s resear-

chers are women? 

 

1) 80% 

2) 42% 

3) 30% 



  In how many countries has there been 

accomplished full gender equality both 

economically, politically, and socially? 

 

1) Only three countries 

2) In most European countries 

3) Nowhere yet 

  Globally, is there an equal number of 

women and men? 

 

1) Yes, there is almost exactly the same 

number of women as men. 

2) No, there are many more women 

than men, as men die at an earlier age 

3) No, there are a few more men. 

  Who was the first woman to be elected 

as the president of the European Parla-

ment? 

 

1) No woman has been elected as the 

president of the EU Parlament yet 

2) Nicole Fontaine (France) 

3) Simone Veil (France) 

  Who was the first female Secretary 

General of the United Nations? 

 

1) Madeleine Albright 

2) Angela Merkel 

3) As of 2020, the UN has not yet had a 

female secretary general 

  Which two countries have the most 

women in governance? 

 

1) Switzerland and Finland 

2) Tanzania and Iran 

3) Bolivia and Rwanda 

  Which of these countries have the gre-

atest proportion of women in their 

parliament (or lower house)? 

 

1) Singapore 

2) Canada 

3) Rwanda 

  Which one of the following countries 

was not in the global "top 10" regar-

ding gender equality in 2019? 

 

1) Finland 

2) Sweden 

3) Denmark 

  In which of these countries did women 

first get the right to both vote and be 

candidates in elections? 

 

1) USA 

2) Switzerland 

3) Finland 

  Which country was the first to grant 

women the right to vote and which 

country was the last to do so (not coun-

ting the Vatican City)? 

 

1) The USA was the first; Venezuela was 

the last 

2) Denmark was the first; the Republic 

of Congo was the last 

3) New Zealand was the first; Saudi 



  In which year was the UN's Convention 

on the Elimination of all Forms of 

Discrimination Against Women 

(CEDAW) signed? 

 

1) 2015 

2) 1951 

3) 1979 

  What percentage of the world's women 

have at some point in their lives been 

the victim of sexual or physical violen-

ce? 

 

1) 55% 

2) 15% 

3) 35% 

  How many women around the world 

have experienced either sexual or 

physical violence? 

 

1) 1 out of 10 

2) 1 out of 8 

3) More than 1 out of 3 

  How many countries were led by 

women in 2018? 

 

1) 14 

2) 44 

3) 24 

  How many of women and girls in the 

EU experience harassment through 

texting, emails, and social media? 

 

1) A third 

2) A half 

3) A tenth 

  Which country was the first to allow 

women to vote in 1893? 

 

1) USA 

2) Sweden 

3) New Zealand 

  In 1960, the global average of children 

per woman was five. What was the 

average in 2020? 

 

1) 3 children 

2) 6 children 

3) 2 children 

  In 1976, 70% of the world's population 

could read. In 2020 the number was 

86.3%. Have we seen the biggest drop 

in illiteracy among women or among 

men? 

 

1) The drop has been equally great 

among both men and women 

2) Among men 

3) Among women 

  Globally, how much does an average 

woman earn per year? 

 

1) About 20,500 US dollars 

2) About 15,000 US dollars 

3) About 10,500 US dollars 



  By reducing gender inequality, the 

number of people living in hunger 

would fall with... 

 

1) 5-10 million 

2) 1-5 million 

3) 10-15 million 

  In 2017, only one country had more 

women than men in its parliament. 

Which one? 

 

1) Bulgaria 

2) Finland 

3) Rwanda 

  In 2018, Ireland lifted its ban on aborti-

on as the last European country to do 

so. How many of the world's countries 

maintain strict abortion laws? 

 

1) 93 

2) 13 

3) 53 

  In India, 62.8% of women are literate. 

What is this number among Indian 

men? 

 

1) About 41% 

2) About 61% 

3) About 81% 

  What is "Me Too"? 

 

1) A human right that condemns sexual 

harassment 

2) A Swedish law that tries to prevent 

sexual harassment 

3) An online campaign to create 

awareness around sexual harassment 
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  How many countries provide access to 

drinkable water for 100% of their popu-

lation? 

 

1) 35 

2) 10 

3) 140 

  Which is the most widely known disea-

se when it comes to contaminated 

water? 

 

1) Diarrhea 

2) Schistomiasm 

3) Typhoid 

  Of all water on the Earth - what is the 

percentage of fresh water? 

 

1) about 3% 

2) about 10.5% 

3) about 20.5% 

  What is one of the main diseases cau-

sed by a lack of hygiene? 

 

1) Diarrhoeal disease 

2) Allergies 

3) Urinary tract infection 

  Which country will soon recycle enough 

wastewater to meet 50% of its water 

needs? 

 

1) Singapore 

2) New Zealand 

3) Norway 

  A lack of water resources to meet the 

human and ecological demand for wa-

ter is called... 

 

1) Water Stress 

2) Water Fall 

3) Water Drop 

  Worldwide, how many people did not 

have access to safe drinking water in 

2019? 

 

1) 780 million 

2) 1 billion 

3) Very few 

  Unsafe drinking water is a leading risk 

for… 

 

1) Diarrhea 

2) Diabetes 

3) High blood pressure 

  What percentage of global freshwater 

flow comes from basins that cross nati-

onal borders? 

 

1) 60% 

2) 40% 

3) 20% 



  Which region has the highest death 

rates due to lack of safe drinking wa-

ter? 

 

1) Sub-Saharan Africa 

2) Middle East 

3) Latin America 

  Globally, how many percent of schools 

have no toilets at all? 

 

1) 23% 

2) 13% 

3) 5% 

  How long do you think the average 

Malawi woman spends on getting wa-

ter every day? 

 

1) 54 minutes 

2) 14 minutes 

3) 6 minutes 

  On which source of water does two 

billion people primarily rely on? 

 

1) Groundwater 

2) Rainwater 

3) Desalinated ocean water 

  The UN's Food and Agricultural Organi-

zation (FAO) has estimated that many 

developing countries will be lacking 

water by 2030. How many countries? 

 

1) Every fifth developing country 

2) Every third developing country 

3) All developing countries 

  Unclean water can be made potable 

using chlorine tablets or by... 

 

1) Boiling it 

2) Filtering through an ordinary coffee filter 

3) Adding calcite tablets 

  Unclean water can be made potable by 

boiling it or by... 

 

1) Adding chlorine tablets 

2) Adding salt 

3) Filter through an ordinary coffee filter 

  By 2025, how many of the world’s po-

pulation will be living in water-stressed 

areas? 

 

1) Half of the world's population 

2) All of the world's population 

3) One third of the world's population 

  The absence of clean water in ordinary 

homes is often due to... 

 

1) Poorly functioning state institutions 

2) Lack of water due to droughts 

3) Pollution 



  Groundwater is one of the few natural 

resources that can be found almost all 

over the planet. How much of the 

world's total freshwater supply is made 

up by groundwater? 

 

1) 30% 

2) 40% 

3) 50% 

  What is used to clean the drinking wa-

ter from dangerous bacteria and harm-

ful organisms in multiple Asian coun-

tries? 

 

1) Sari (a type of cloth used for robes in 

Asia) 

2) Mosquito nets 

3) Clay 

  What is the primary reason that water 

projects in developing countries fail? 

 

1) A lack of maintenance 

2) Corruption in the country 

3) Lack of knowledge 

  What is one of the biggest threats to 

the quality and cleanliness of the Euro-

pean groundwater? 

 

1) Domestic pollution 

2) Salts from the ocean water making the 

groundwater too saline 

3) Population growth 

  What is the benefit of using groundwa-

ter as a source of drinking water, rather 

than rain or ocean water? 

 

1) Groundwater has been filtered through 

several layers 

2) Groundwater is easier to extract and use, 

because it is right there in the ground 

3) Groundwater contains vitamins from the 

earth 

  Who would benefit the most from the 

construction of water treatment plants 

in smaller communities in developing 

countries? 

 

1) Girls and women 

2) Children 

3) It would benefit everyone equally 

  Which of these options would be the 

most effective way to save water? 

 

1) Refraining from eating a hamburger 

2) Taking short showers 

3) Drinking something else instead of water 

  Which country supplies the most fresh-

water in the world? 

 

1) Brazil 

2) Finland 

3) USA 

  Which of the following statements is 

correct? 

 

1) There are more people with a cell phone 

than a toilet 

2) There are more people with a toilet than 

a cell phone 

3) Everyone who has access to a cell phone 

also has access to a toilet 



  How many litres of water does the 

average European consume every day? 

 

1) About 200 litres 

2) About 150 litres 

3) About 50 litres 

  How many litres of water does the 

average US family consume every day? 

 

1) About 1,100 litres 

2) About 900 litres 

3) About 500 litres 

  How many people die every year be-

cause of unclean or polluted water 

and/or unsanitary conditions? 

 

1) Over 800,000 

2) Over 8 million 

3) None 

  How much of the Earth's water can be 

used for drinking water? 

 

1) 10% 

2) 3% 

3) 30% 

  By how much it is expected that global 

water consumption will rise by 2050? 

 

1) 55% 

2) 40% 

3) 25% 

  How much of the world's wastewater 

ends up going directly into rivers and 

oceans? 

 

1) 80% 

2) 10% 

3) 50% 

  What proportion of the world's popula-

tion does not have access to clean wa-

ter? 

 

1) More than a sixth 

2) More than a half 

3) Everyone has access to clean water 

  What percentage of the world's drin-

king water is produced by desalination? 

 

1) 1% 

2) 5% 

3) 10% 

  In 2013, what percentage of the 

world's population had either water 

pipes or water tanks with a pump in 

their homes? 

 

1) Almost 85% 

2) Almost 35% 

3) Almost 50% 



  What percentage of the world's total 

water reserves is saltwater? 

 

1) 97% 

2) 52% 

3) 10% 

  What percentage of the world's popu-

lation still do not have access to proper 

toilets and sewage systems? 

 

1) 32% 

2) 12% 

3) 42% 

  How is groundwater extracted from the 

water table below the ground? 

 

1) By wells that reach down to the ground-

water in the water table 

2) The electrical conductivity of water pulls 

it up into the water pipes 

3) When it rains, the groundwater rises 

closer to the surface 

  What can be done to improve drinking 

water in areas where pollution is high? 

 

1) By planting trees with deep roots 

2) It is already too late to do anything 

3) By adding calcite to the soil 

  In Denmark, all people have access to 

clean drinking water. How many people 

have access to clean drinking water in 

Sub-Saharan Africa? 

 

1) 58% 

2) 75% 

3) 97% 

  In which areas of a country is water 

typically the cleanest and most sanita-

ry? 

 

1) In cities, where there are advanced wa-

ter sanitation facilities 

2) In countryside, where there is less polluti-

on and less trash 

3) In smaller cities, where people do not live 

as closely to one another 

  In which part of the world do most 

people live without access to clean and 

safe drinking water? 

 

1) Sub-Saharan Africa 

2) South America 

3) Europe 

  In which African country does most of 

the population have access to clean 

drinking water? 

 

1) Tunisia 

2) Somalia 

3) South Africa 

  In which area of the world have we, in 

recent history, seen the greatest incre-

ase of people with access to better 

drinking water? 

 

1) East Asia 

2) Latin America 

3) Middle East 



  In which of the following three regions 

do most people have access to proper 

toilets and sewage systems? 

 

1) Latin America and the Caribbean 

2) Asia 

3) Africa 

  Along which river does most of Egypt's 

population live? 

 

1) Nile 

2) Danube 

3) Ganges 

  There are many places around the 

world where people are in acute need 

of water. How long can a human live 

without drinking any water? 

 

1) About 7 days 

2) About a day 

3) About 5 days 

  Much of the world's water exists as ice 

in the Arctic and Antarctic regions and 

mountainous areas. How much sea 

level rise would we see if all of that ice 

melted? 

 

1) About 65 meters 

2) About 5 meters 

3) About 35 meters 

  How many healthcare facilities world-

wide do not have soap or water or 

alcohol-based handrubs? 

 

1) Two in five 

2) One in five 

3) Four in five 

  Saltwater contains 10 times more salt 

than freshwater. From where do you 

get saltwater? 

 

1) From the ocean 

2) From lakes and the groundwater 

3) From rainwater 

  How has global access to improved 

water sources changed since 2000? 

 

1) More people have gotten access to im-

proved water sources 

2) Fewer people have gotten access to im-

proved water sources 

3) Nothing has changed 

  What proportion of the world's popula-

tion did not have access to improved 

sanitation in 2019? 

 

1) One-third 

2) Half 

3) Less than half 

  90% of which type of water is led di-

rectly into the world's rivers and oce-

ans without first being cleaned and 

neutralized? 

 

1) Wastewater from sewage 

2) Chlorine water from public pools 

3) Rainwater from the drain 



  The UN has a "World Toilet Day". Why? 

 

1) To spread awareness about billions of 

people who live without proper toilet facili-

ties 

2) To celebrate the invention of the modern-

day flush toilet, invented in 1596 

3) To remind everyone of proper hygiene 

and sanitary practices in the bathroom 
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  Why is geothermal energy a very used 

resource of energy in Iceland? 

 

1) Because there is a huge amount of 

thermal water in Iceland 

2) Because there are many volcanic 

places in Iceland 

3) The country is one of the richest in 

the world 

  Which country can brag about having 

reached 100% of renewable energy in 

its energy production? 

 

1) Finland 

2) Iceland 

3) Latvia 

  Who was the first producer of hydro-

electricity in Europe? 

 

1) Finland 

2) France 

3) Poland 

  What was the percentage of renewable 

energy consumed in the European Uni-

on in 2018? 

 

1) About 39% 

2) About 19% 

3) About 69% 

  Where is the biggest solar power plant 

in the world? 

 

1) Sahara desert 

2) Tengger desert 

3) Mojave desert 

  Where is the most appropriate place to 

set up wind energy farms? 

 

1) In the heart of a forest 

2) On an open plain 

3) In the centre of big cities 

  What country has the largest deficit in 

access to clean cooking fuels? 

 

1) Madagascar 

2) Ethiopia 

3) Niger 

  All solar energy that hits the surface of 

the Earth per hour will be the same as 

what all countries in the world use in.. 

 

1) One week 

2) One year 

3) One month 

  What percentage of the global popula-

tion still lacks access to modern electri-

city? 

 

1) 5% 

2) 13% 

3) 23% 



  Affordable and reliable energy is essen-

tial for health facilities. How many 

health facilities were not electrified in 

2018? 

 

1) 1 in 3 

2) 1 in 4 

3) 1 in 5 

  According to the World Health Organi-

zation, how many people die of air 

pollution every year? 

 

1) 5 million 

2) 7 million 

3) 10 million 

  How much of Uganda's population has 

access to electricity? 

 

1) 47% 

2) 27% 

3) 67% 

  What was the good news regarding 

renewable energy in Europe in 2020? 

 

1) Less nuclear powerplants were built 

2) More renewable than fossil energy 

was produced 

3) The number of solar panels increa-

sed 

  Which of these European countries 

makes the most use of electric ve-

hicles? 

 

1) Spain 

2) Norway 

3) France 

  7% of the world's electricity is produ-

ced from hydro power. Which force is 

used in the process of harnessing elec-

tricity from hydro power? 

 

1) Centrifugal force 

2) The force of gravity 

3) Electromagnetic force 

  What percentage of global greenhouse 

gas emissions does energy represent? 

 

1) 40% 

2) 60% 

3) 20% 

  How much of the world's total energy 

consumption is attributable to the four 

countries of China, the USA, India, and 

Russia? 

 

1) About 25% 

2) About 50% 

3) About 35% 

  You cannot produce clean energy 

using... 

 

1) The sun 

2) Coal 

3) Water and waves 



  "Energy saving" means that... 

 

1) For example, a lamp that gives off a 

dimmer light 

2) Something is designed to make eco-

nomical use of its energy supply 

3) The energy supply is cheap 

  What is "natural gas"? 

 

1) A fuel extracted in a natural and 

environmentally friendly way 

2) A fossil fuel extracted by fracking 

3) A waste product from wind energy 

production 

  Which of these is a renewable energy 

source? 

 

1) Oil 

2) Sunlight 

3) Gas 

  Which industry uses the most oil? 

 

1) The agricultural industry 

2) The transportation industry 

3) The fashion industry 

  If all the people in the world consumed 

and used as many resources as an aver-

age citizen of Denmark, how many 

Earths worth of resources would we 

then need? 

 

1) 1 Earth 

2) 4 Earths 

3) 2 Earths 

  Where in the world does the average 

citizen consume the most oil? 

 

1) Saudi Arabia 

2) USA 

3) China 

  Which country has the most oil reser-

ves in the world? 

 

1) Saudi Arabia 

2) Venezuela 

3) Kuwait 

  By how much did the price of one bar-

rel of oil increase during the oil crisis in 

1973? 

 

1) 50% 

2) 500% 

3) 5% 

  How much CO2 do you emit, if you 

drive 300 km (186 miles) in an average 

petrol car? 

 

1) About 7 kg (15 pounds) of CO2 

2) About 70 kg (154 pounds) of CO2 

3) About 70 g (0.03 ounces) of CO2 



  What proportion of the world's popula-

tion does not have access to electricity? 

 

1) A tenth of the world's population 

2) A fifth of the world's population 

3) A third of the world's population 

  How much of the world's energy con-

sumption comes from renewable sour-

ces of energy, like wind power, solar 

cells, and hydro power? 

 

1) 8% 

2) 18% 

3) 28% 

  Why are clean and sustainable sources 

of energy important? 

 

1) Because they are currently cheaper 

than traditional sources of energy 

2) Because energy production and 

consumption contributes to global 

climate change 

3) Because they are newer and more 

modern and therefore better 



  What do we celebrate on June 12? 

 

1) World day for mental illness preven-

tion 

2) World day for biodiversity 

3) World day against child labor 

  Which continent has the highest rates 

of modern slavery? 

 

1) Europe 

2) Asia 

3) Africa 

  Which country has the highest rates of 

modern slavery in the European Union? 

 

1) Czech Republic 

2) Spain 

3) Poland 

  Which continent has the highest child 

labour rate? 

 

1) Asia 

2) South America 

3) Africa 

  Which of the following is one of the 

indicators of economic growth? 

 

1) Low wages 

2) High inflation 

3) Strong employment numbers 

  What is an element of decent work? 

 

1) Long working days 

2) Flexibility with the wage 

3) Social security 

  What country has the highest incidence 

of extreme and moderate working 

poverty? 

 

1) Japan 

2) Benin 

3) Burundi 

  By how much is the average income of 

men higher than that of women? 

 

1) By 5% 

2) By 9% 

3) By 19% 

  Which industry has the highest percen-

tage of forced laborers? 

 

1) Construction 

2) Agriculture and fishing 

3) Domestic servitude 



  Which country was in 2017 the world's 

number one destination for internatio-

nal tourists? 

 

1) USA 

2) Dubai 

3) France 

  Which country has the shortest wor-

king hours? 

 

1) Denmark 

2) Ghana 

3) Netherlands 

  Which of the following countries has 

not explicitly prohibited harassment in 

the workplace? 

 

1) Cote d'Ivoire 

2) Cambodia 

3) Russia 

  Which of the following countries has 

the lowest unemployment rate in the 

world? 

 

1) France 

2) Germany 

3) Qatar 

  How many victims of modern slavery 

are children? 

 

1) 1 in 7 

2) 1 in 3 

3) 1 in 4 

  In April 2020, by how much did the 

COVID-19 lockdown reduce global 

greenhouse emissions? 

 

1) 7% 

2) 10% 

3) 17% 

  Which country has the largest economy 

in the world? 

 

1) China 

2) Germany 

3) USA 

  152 million children around the world 

are forced to work so much and so 

intensely that it affects their schooling 

and/or health. What percentage of 

these children are under the age of 11? 

 

1) 8% 

2) 28% 

3) 48% 

  Does slavery still take place in Europe? 

 

1) No. In 1960, all countries of the 

world agreed to abolish slavery 

2) Yes, but only in very few countries 

3) Yes. It is estimated that 1.2 million 

people live as slaves in Europe 



  What does "human trafficking" mean? 

 

1) An advanced system that keeps track 

of where people move across the world 

2) A transportation industry concerned 

with moving people around 

3) Illegal transportation of people 

forced to work as e.g., sex workers 

  Which of these countries has on avera-

ge the most working hours per week? 

 

1) South Korea 

2) Germany 

3) Mexico 

  Which of the following continents has 

the highest number of forced labou-

rers? 

 

1) Latin America 

2) Africa 

3) Asia 

  Which African country has the biggest 

economy? 

 

1) Egypt 

2) South Africa 

3) Nigeria 

  Which European country has the big-

gest economy? 

 

1) France 

2) The United Kingdom 

3) Germany 

  Which Latin American country has the 

largest gross domestic product (GDP) 

per person? 

 

1) Chile 

2) Columbia 

3) Bahamas 

  If the development continues at its 

current rate, how many years will it 

take before we achieve global equal 

pay between men and women? 

 

1) 8 years 

2) 28 years 

3) 68 years 

  How many of the 193 countries of the 

world have laws that prevent gender-

based discrimination in employment 

processes? 

 

1) 94 countries 

2) 188 countries 

3) 67 countries 

  Today, how many children around the 

world perform some form of child la-

bor? 

 

1) 72 million 

2) 102 million 

3) 152 million 



  How many people today live in modern 

slavery? 

 

1) 25 million 

2) 5 million 

3) 40 million 

  What percentage of the world's adults 

currently have a bank account? 

 

1) About 31% 

2) About 72% 

3) About 62% 

  In the year 2000, the number of child 

workers was 246 million globally. To-

day, this number has been… 

 

1) ...reduced to nearly zero 

2) …doubled 

3) ...reduced by a third 

  In 2017, 80.6% of all men of employ-

ment age were a part of the official 

global labor market. What percentage 

of the world's women were in formal 

employment that same year? 

 

1) 84% 

2) 14% 

3) 54% 

  In how many countries do employees 

have the right to paid leave in the case 

of illness (paid sick leave)? 

 

1) In 16 countries 

2) In 66 countries 

3) In 166 countries 

  Can you be living in poverty and still 

have a job? 

 

1) No, the work has in itself a value that 

disqualifies you from being poor 

2) No, because you work to earn mo-

ney 

3) Yes, it is more frequent than people 

think 



  How many people worldwide still do 

not have access to internet? 

 

1) 4 billion 

2) 3 billion 

3) 2 billion 

  Which sectors would benefit the most 

from the use of drones in the future? 

 

1) Infrastructure, agriculture and 

transport 

2) Media, tourism and art 

3) Sport, health and economics 

  Complete the following sentence! A 

functioning and resilient infrastructure 

is the foundation of every successful... 

 

1) Community 

2) Friendship 

3) Relationship 

  What was the European Green Capital 

in 2020? 

 

1) Lisbon 

2) Stockholm 

3) Amsterdam 

  Why is infrastructure important? 

 

1) It connects supply chains 

2) It means lower taxes 

3) It makes people travel more 

  What percentage of the world's popu-

lation does NOT have any mobile co-

verage? 

 

1) 4% 

2) 10% 

3) 1% 

  What percentage of agricultural produ-

cts in high income countries undergo 

industrial processing? 

 

1) 98% 

2) 58% 

3) 38% 

  Which city has been ranked the top city 

worldwide for sustainable transport in 

2017? 

 

1) Hong Kong 

2) Zurich 

3) Singapore 

  Which company invented the mobile 

phone? 

 

1) Motorola 

2) Apple 

3) Nokia 



  Over 1.24 million people are killed an-

nually in road traffic accidents. What 

percentage of these fatalities occur in 

developing countries? 

 

1) 98% 

2) 58% 

3) 38% 

  It is a good idea for a country to invest 

a part of its gross domestic product 

(GDP) in science and technology. Which 

of these countries invests the most in 

relation to their total GDP? 

 

1) South Korea 

2) China 

3) India 

  Which of the following statements is 

correct? 

 

1) Cell phones (there are more cell 

phones than people in the world) 

2) People (there are more people than 

cell phones in the world) 

3) There are about as many cell phones 

as people in the world 

  What do most people in developing 

countries use their cell phone for? 

 

1) Texting (SMS) 

2) Calling 

3) Maps 

  What does the word "infrastructure" 

mean? 

 

1) Road networks, electric cables, rail-

roads etc. 

2) The physical and social environment 

at a workplace 

3) A communication platform 

  What is a "pluviometer"? 

 

1) A rain gauge 

2) A snow gauge 

3) A grass straw gauge 

  What is internet censorship? 

 

1) When the authorities limit the total 

body of information that can be found 

on the internet 

2) An agreement among the internet 

providers on how they are to share the 

competitive market 

3) Another word for sharing your bro-

adband connection 

  What does it mean for a business to be 

"sustainable"? 

 

1) That it strains the environment as 

little as possible 

2) That it makes enough profits to pay 

its employees 

3) That it is sustained through external 

donations 

  What happens when a developing 

country receives support from a deve-

loped country to improve its infrastruc-

ture? 

 

1) A greater opportunity within educa-

tion and employment, which reduces 

poverty 

2) A high risk that the developing coun-

try misuse the support 



  Which one of these cars is best for the 

environment? 

 

1) An electric car 

2) A diesel car 

3) A petrol car 

  Which one of these methods of trans-

portation pollutes the most when it 

comes to CO2 emissions? 

 

1) Transportation by plane 

2) Transportation by ship 

3) Transportation by truck 

  Which of these countries has the 

world's largest railroad network? 

 

1) USA 

2) China 

3) Russia 

  If you combined all of the world's rail-

roads into one, how many times could 

it reach around the Earth? 

 

1) 29 times 

2) 19 times 

3) 9 times 

  Which method of transportation is 

mostly used for shipping of goods? 

 

1) Transportation by ship 

2) Transportation by truck 

3) Transportation by plane 

  How much of Kenya's total population 

was using a cell phone in 2017? 

 

1) 87% 

2) 57% 

3) 27% 

  How many air passengers are there 

approximately per day worldwide? 

 

1) 2.7 million air passengers 

2) 1 million air passengers 

3) 500,000 air passengers 

  The EU has 446 million inhabitants. 

How many motor vehicles are there on 

the roads in the EU? 

 

1) 313 million 

2) 221 million 

3) 100 million 

  How much of the world's total popula-

tion uses the internet? 

 

1) About 60% 

2) About 40% 

3) About 80% 



  How many of the EU-27 households 

had internet access in 2019? 

 

1) Almost 90% 

2) Almost 70% 

3) Almost 50% 

  How much of the world's total popula-

tion had a smartphone in 2020? 

 

1) Nearly half 

2) Nearly everybody 

3) A third 

  Why does the UN's World Food Pro-

gram (WFP) work on improving the 

infrastructure in developing countries? 

 

1) Because otherwise it may hinder to 

distribute emergency aid 

2) Because cars get worn down and 

damaged from the unkept dirt roads 

3) It helps the locals to socially connect 

with friends and family 

  In which year was the first cell phone 

text message (SMS) sent? 

 

1) 1992 

2) 1981 

3) 2003 

  In which decade was the world's first 

cellular network opened? 

 

1) The 1980s 

2) The 1930s 

3) The 00s 

  The idea of the internet was developed 

in the 1960s. Who was behind the in-

vention and development of what we 

today call the internet? 

 

1) The American military 

2) The Russian KGB 

3) The Iranian government 

  In the Zanzibar region of Tanzania, cell 

phones help improve the health of its 

population. How? 

 

1) Pregnant women can access medi-

cal assistance via a cell phone 

2) A health app can tell how to avoid 

diseases 

3) A health hotline gives health-related 

advice 



  Who was the world's largest donor of 

Official Development Assistance in 

2019? 

 

1) China 

2) USA 

3) The European Union 

  Is SDG 10 only aimed at eliminating 

inequality between countries? 

 

1) No, also in developing countries 

2) Yes, of course 

3) No, also within all countries 

  What is one of the steps that countries 

should take to reduce inequality and 

meet the SDG 10 targets? 

 

1) Decrease commerce with developed 

countries 

2) Pay higher salaries globally 

3) Facilitate migration and mobility 

  What percentage of people with severe 

disabilities in low-income countries 

have access to disability benefits ? 

 

1) 5% 

2) 10% 

3) 1% 

  Which of the following countries has 

one of the worst levels of equality? 

 

1) Hungary 

2) India 

3) South Africa 

  Which of the following countries has 

the highest minimum wage? 

 

1) USA 

2) United Kingdom 

3) Denmark 

  Which region is recognised as having 

the highest levels of discrimination 

against workers? 

 

1) North Africa 

2) Northern Europe 

3) The Gulf Region 

  Which country is recognised as being 

easy for immigrants to integrate into? 

 

1) France 

2) Hungary 

3) Canada 

  The most disadvantaged groups in re-

gard to their rights and equal treat-

ment are: 

 

1) Poor people 

2) Immigrants 

3) Stateless people 



  Which of the following countries has 

the lowest average wages in the world? 

 

1) Indonesia 

2) India 

3) Mauritania 

  Which of the following countries has 

the lowest average wage in the Euro-

pean Union? 

 

1) Latvia 

2) Romania 

3) Bulgaria 

  What is a "quota refugee"? 

 

1) A refugee with a certain amount of 

material and financial resources 

2) A refugee with a specific age 

3) A refugee who is relocated by the 

UN system to a UN member state 

  How many asylum seekers got pro-

tected status in the EU in 2019? 

 

1) Almost 200,000 persons 

2) Almost 100,000 persons 

3) Almost 300,000 persons 

  The UN's Convention on the Rights of 

the Child describes the rights of any 

human child on Earth. How is the term 

"child" defined in this convention? 

 

1) All humans under 12 years of age 

2) All humans under 16 years of age 

3) All humans under 18 years of age 

  When people are treated differently 

based on their gender, skin color, beli-

efs, or other characteristics, it is cal-

led… 

 

1) Inequality 

2) Injustice 

3) Discrimination 

  What does it mean to be a "developing 

country"? 

 

1) That the country is located south of 

the equator 

2) That the country has no major cities, 

for example 

3) That the country lacks development 

and progress within different areas 

  From which of these sources do develo-

ping countries receive the most financi-

al aid? 

 

1) Generous philanthropists and lotto 

winners 

2) Development aid 

3) Transactions from people who send 

money back home 

  Which of the following is the best way 

to reduce inequality? 

 

1) Making sure that everyone has ac-

cess to clean water 

2) Making sure that everyone has a cell 

phone 

3) Making sure that children have ac-

cess to quality education 



  Which of the following countries is the 

largest recipient of development aid? 

 

1) Niger 

2) Syria 

3) Afghanistan 

  In which areas is there the greatest 

chance of avoiding child death and 

maternal death during childbirth? 

 

1) The type of area has no effect on the 

rate of child and maternal deaths 

2) In rural areas 

3) In urban areas 

  How many people around the world 

experience water scarcity for at least 

one month every year? 

 

1) 1 million 

2) None 

3) 2.7 million 

  What percentage of all refugees in the 

world travel to a country in Europe or 

North America? 

 

1) 49% 

2) 86% 

3) 14% 

  What is the best way to prevent pover-

ty? 

 

1) By preventing immigration across 

borders 

2) By lowering taxes for the wealthiest 

3) To engage in international coopera-

tion and fair trade agreements 

  Which of these statements describes 

the worlds most typical person? 

 

1) He is American and he is 42 years old 

2) She is Indian and she is 34 years old 

3) He is Chinese and he is 28 years old 

  In which part of the world has the aver-

age person been lifted out of poverty 

and become more equal in the past 50 

years? 

 

1) Middle East and North Africa 

2) Latin America 

3) Asia 

  In which of the following countries do 

immigrants make up 88.4% of its total 

population? 

 

1) Jordan 

2) USA 

3) United Arab Emirates 

  In which of the following countries the 

wage gap between men and women is 

the smallest? 

 

1) In Italy 

2) In Denmark 

3) In Romania 



  People seeking refuge from conflict 

and/or natural disasters often flee to... 

 

1) A country in Europe 

2) A neighboring country 

3) Another place within their own 

country 

  Do the majority of the world's migrants 

come from poor countries? 

 

1) There are about an equal amount 

coming from both rich and poor coun-

tries 

2) Yes 

3) No 

  The world population is expected to 

reach 8.6 billion people by 2030. Whe-

re are we expecting to see the greatest 

population growth? 

 

1) Europe 

2) East Asia 

3) Africa 



  What is "renewable energy"? 

 

1) Energy from fuels found in nature 

such as coal, oil, and natural gas 

2) Energy from natural resources that 

are naturally replenished 

3) A form of energy that we cannot yet 

use, because it is brand new 

  Which of the following is a good stra-

tegy for us all to follow in order to achi-

eve sustainable cities and communi-

ties? 

 

1) Move to the countryside 

2) Recycle 

3) Use more private vehicles 

  What percentage of global GDP do 

cities generate? 

 

1) 50% 

2) 80% 

3) 20% 

  What is the most urbanized country in 

the world? 

 

1) USA 

2) Kuwait 

3) Germany 

  Which country in the world has the 

most overcrowded prisons? 

 

1) Guatemala 

2) Republic of the Congo 

3) Philippines 

  What percentage of the worlds popula-

tion lived in Asia in 2020? 

 

1) 39% 

2) 59% 

3) 29% 

  What was the most polluted country in 

the world in 2019? 

 

1) China 

2) Bangladesh 

3) India 

  What was the least polluted country in 

the world in 2019? 

 

1) Sweden 

2) Bahamas 

3) Iceland 

  What is one of the European Union's 

programmes that aims at meeting the 

targets of SDG 11? 

 

1) Europe on the move packages 

2) Horizon 2020 

3) Common Agricultural Policy 



  What does "urbanization" mean? 

 

1) A growth in the number of populati-

on that is increasingly stressed and 

busy 

2) A growth of population in cities due 

to a population shift from rural areas 

to urban areas 

3) A technological advancement of 

cities 

  Which city in the world has the biggest 

population? 

 

1) Tokyo, Japan 

2) Shanghai, China 

3) Mumbai, India 

  Which of the following events killed the 

most people in 2015? 

 

1) Weaponized conflicts 

2) Traffic accidents 

3) Animal encounters 

  Which part of the world is the most 

urbanized? 

 

1) Asia 

2) North America 

3) Middle East and North Africa 

  Which part of the world has the most 

people living in "slums"? 

 

1) Africa 

2) Asia 

3) Latin America 

  Which city has the highest population 

density in the world? 

 

1) Tokyo, Japan 

2) Dhaka, Bangladesh 

3) Shanghai, China 

  Which country has the lowest populati-

on density in the world? 

 

1) Canada 

2) Mongolia 

3) Australia 

  Which part of the world has experien-

ced the greatest population growth 

since the year 1960? 

 

1) Middle East 

2) East Asia 

3) South Asia 

  In which country is the largest refugee 

camp located? 

 

1) Jordan 

2) Bangladesh 

3) Germany 



  How many people need to live in a city 

for it to be considered a "megacity"? 

 

1) 5 million 

2) 10 million 

3) 20 million 

  How many people in developed coun-

tries live in "slums"? 

 

1) 60% 

2) 30% 

3) 10% 

  How much of global CO2 emissions is 

emitted by cities? 

 

1) 35% 

2) 75% 

3) 55% 

  By how much has the world population 

grown since the year 1950? 

 

1) By 102% 

2) By 208% 

3) By 59% 

  How much of the Earth's surface is 

covered by cities? 

 

1) An area about the size of Germany 

2) An area about the size of India 

3) An area about the size of the USA 

  In percentage, how much of the Earth's 

total land area is covered by cities? 

 

1) 13% 

2) 3% 

3) 23% 

  How much of Monaco's total populati-

on lives in an urban area today? 

 

1) 63% 

2) 100% 

3) 88% 

  How much of the world's total popula-

tion lives in cities today? 

 

1) About 80% 

2) About 50% 

3) About 10% 

  How much of the world's total popula-

tion lives in Africa? 

 

1) 27% 

2) 17% 

3) 7% 



  By 2060, how many people do we ex-

pect to live in India as opposed to the 

1.4 billion today? 

 

1) About 2.1 billion, after which it will 

keep increasing 

2) About 1.7 billion, after which it will 

decline 

3) About 1.5 billion, after which it will 

stagnate 

  Were there as many people living in 

cities as in the countryside in 2016? 

 

1) No. The majority of people lived in 

rural areas in 2016 

2) No. The majority of people lived in 

urban areas in 2016 

3) Yes. There was about an equal num-

ber of people living in urban and rural 

areas 



  When a company seems to have an environ-

mentally friendly profile but does not have it 

in practice, it is called… 

 

1) Greenclean 

2) Ecowashing 

3) Greenwashing 

  How much of all the food that is produced is 

estimated to end up rotting in consumer and 

retail garbage cans? 

 

1) One eighth  

2) One fifth  

3) One third 

  According to the UN, if human activity conti-

nues at the current rate how many planets 

will we need by 2050? 

 

1) 5 planets 

2) 2 planets 

3) 3 planets 

  How much clothing does an average consu-

mer throw away each year? 

 

1) about 2 kg 

2) about 12 kg 

3) about 32 kg 

  How many people currently live without 

electricity? 

 

1) more than 1 billion 

2) More than 900 million 

3) More than 800 million 

  Which country recycles the most plastic? 

 

1) South Korea 

2) Austria 

3) Germany 

  Which one of these products requires the 

most water to produce? 

 

1) 1 kg of cheese 

2) 1 kg of pork 

3) 1 kg of beef 

  Which one of these products requires the 

least water to produce pr kg? 

 

1) Chicken 

2) Beef 

3) Rice 

  Which of the following requires 100 litres of 

water to produce? 

 

1) One kilo of plastic bottles 

2) One pair of pants 

3) One kilo of paper 



  Which is the second-most polluting industry 

in the world? 

 

1) The car industry 

2) The coal industry 

3) The textile and fashion industry 

  Which of the following products requires the 

most water to produce? 

 

1) A litre of milk 

2) A kilo of potatoes 

3) A normal t-shirt 

  Which country was the first to ban plastic 

bags? 

 

1) Iceland 

2) Sweden 

3) Bangladesh 

  How much money would we save globally if 

everyone switched to using energy-efficient 

lighting? 

 

1) Almost 914 million US dollars every year 

2) Almost 51 billion US dollars every year 

3) Almost 116 billion US dollars every year 

  How many litres of water are required to 

produce 1 litres of cola (0.2 gallons)? 

 

1) 20 litres of water (5 gallons) 

2) 1 litres (0.2 gallons) 

3) About 200 litres of water (52 gallons) 

  How many litres of water are required to 

produce 1 kg of pork (2.2 pounds)? 

 

1) 480 litres of water (127 gallons) 

2) 48 litres of water (13 gallons) 

3) 4,800 litres of water (1268 gallons) 

  It takes 25 years for a cigarette butt to be 

broken down in nature. How many ciga-

rettes are thrown on the ground each year? 

 

1) 500 million cigarettes 

2) 1 billion cigarettes 

3) 2.5 billion cigarettes 

  How much of Europe's plastic waste gets 

recycled? 

 

1) 10% 

2) 60% 

3) 30% 

  How many litres of water are required to 

produce 1 kg of beef (2.2 pounds)? 

 

1) 150 litres 

2) 1,500 litres 

3) 15,000 litres 



  How much of the world's total water con-

sumption does the food production stand 

for? 

 

1) 26% of the world's total water consumpti-

on 

2) 56% of the world's total water consumpti-

on 

3) 66% of the world's total water consump-

tion 

  What percentage of the world's agricultural 

land is maintained by irrigation? 

 

1) 50% 

2) 30% 

3) 20% 

  How is salt extracted from ocean water so 

that we can use it in our foods? 

 

1) By applying pressure to the ocean water, 

causing a separation 

2) By using a magnet to separate the salt 

from the water 

3) By evaporating the water and having 

salts left over 

  What is the best way to reduce the amount 

of plastic waste? 

 

1) By always sorting out your trash and 

remembering to recycle 

2) By getting rid of all the products you own 

that are made of plastic 

3) By purchasing fewer products that are 

made of or packaged in plastic 

  What is the best way to measure whether 

we are using our natural resources as effici-

ently as possible? 

 

1) By measuring our collective greenhouse 

gas emissions 

2) By calculating how much money the aver-

age person gains or loses 

3) By measuring how many natural resour-

ces it takes to sustain an average person's 

lifestyle 

  Today, about a third of all the food is being 

wasted. By how much should we reduce our 

food waste to make supply chains as effici-

ent as we need them to be? 

 

1) We need to reduce our food waste by 

10% 

2) We need to reduce our food waste by 

30% 

3) We need to reduce our food waste by 

50% 

  In Europe, 25 billion metric tons of plastic 

waste are produced every year. How much 

of that gets recycled? 

 

1) About 40% 

2) About 50% 

3) About 30% 

  For more than 9,500 years, we have used 

bricks to build houses. What are the bricks 

made of? 

 

1) A type of gravel that is crushed 

2) A type of rock that gets its red color from 

iron 

3) Clay from the underground 

  The production of food and drinkable items 

requires a lot of water. What is the water 

footprint of a standard cup of coffee? 

 

1) 14 litres 

2) 40 litres 

3) 140 litres 



  The production of food items requires a lot 

of water. How much water does it require to 

make a hamburger? 

 

1) 25 litres 

2) 250 litres 

3) 2,500 litres 



  What is the maximum temperature that the 

Earth can increase by, if we should still be 

able to stay safe on Earth? 

 

1) 1.5 degrees 

2) 1 degree 

3) 2 degrees 

  Which country announced in 2017 that it 

would abandon the Paris Agreement on 

climate change ( they joined again in 2021)? 

 

1) USA 

2) China 

3) Mexico 

  By 2100, how much do you estimate the 

global temperature can rise if we do not act 

immediately? 

 

1) 3.2 °C 

2) 1.5 °C 

3) 2°C 

  What international agreement was adopted 

in 2015 that aims to strengthen the global 

response to climate change? 

 

1) The Paris Agreement 

2) Treaty of Lisbon 

3) NAFTA 

  What does Circular Economy mean? 

 

1) To reuse and recycle in production 

2) Trading with neighbours 

3) Consumption of only local products 

  What is the name of the Swedish internatio-

nally known climate change activist? 

 

1) Greta Thunberg 

2) Greta Garbo 

3) Greta Gerwig 

  How can climate change be stopped/slowed 

more efficiently? 

 

1) Self-education and changing habits 

2) Better laws 

3) It cannot 

  What is the country that produces the most 

greenhouse emissions? 

 

1) China 

2) USA 

3) Japan 

  Which year was recorded as the second 

warmest year ever? 

 

1) 2019 

2) 2017 

3) 2011 



  We usually say that the world is made of 

four basic "elements". These are earth, air, 

fire, and... 

 

1) Water 

2) Metal 

3) Wood 

  It is still possible for us to avoid two degrees 

of warming, if we all just... 

 

1) Change our behavior and invest in sustai-

nable technologies 

2) Punish the developing countries that 

pollute the most with sanctions and fines 

3) Collect all the trash that ends up in nature 

  Much of the CO2 that we emit gets absor-

bed by the world's oceans, but how does 

this impact the pH-value of the water? 

 

1) The water in the world's oceans is 

getting more acidic 

2) The water in the world's oceans is getting 

more alkaline 

3) CO2 emissions have no impact on the pH-

value of the world's oceans 

  The UN Climate Panel consists of experts 

who research and report on the causes and 

effects of climate change. When was this 

panel established? 

 

1) In 1988 

2) In 2009 

3) In 1991 

  To be more sustainable, countries should 

develop and implement energy sources 

based on... 

 

1) Sun, wind and hydro (water) 

2) Natural gas 

3) Coal and oil 

  The type of gas that is part of the Earth's 

atmosphere but is also emitted through 

human activities is called… 

 

1) CO2 

2) Natural gas 

3) Butane gas 

  What is the definition of "climate"? 

 

1) The general weather pattern measured 

across a minium of a 30-year period 

2) The amount of rainfall in a region measu-

red across a minium of a 5-year period 

3) The weekly weather forecast 

  "Greenhouse effect" is a warming effect 

caused by… 

 

1) An insulating layer of gasses in the at-

mosphere 

2) A modern greenhouse and its ability to 

properly ripen vegetables 

3) The industries that rely on greenhouses 

for food production 

  The global average temperature measured 

in 2017 was… 

 

1) Warmer than ever before 

2) Mildly warmer than usual 

3) Mildly colder than usual 



  What is the "El Niño"? 

 

1) A climate phenomenon in the Pacific 

Ocean 

2) A dictator in Latin America 

3) A tool for measuring the various warming 

effects of climate change 

  Which countries have the greatest responsi-

bility for reducing CO2 emissions? 

 

1) The rich and developed countries 

2) The least developed countries 

3) All countries pollute a lot - they just pollu-

te in different ways 

  What is a "glacier"? 

 

1) A very large body of thick and dense 

snow/ice that moves under its own weight 

2) An area for skiing in the French Alps 

3) An iceberg that floats in the oceans 

around the poles 

  What is an "ice age"? 

 

1) A period in history covered in ice 

2) The period of time it takes for glaciers to 

form 

3) The amount of time it takes you to eat an 

ice cream 

  What is the "Gulf Stream"? 

 

1) A warm ocean current in the Atlantic 

Ocean 

2) The name for the strong sun rays 

3) An important river that feeds into the 

Persian Gulf 

  Who should be taking responsibility for 

making human society more sustainable? 

 

1) Everyone 

2) The politicians 

3) The scientists 

  Which of the following statements is cor-

rect? 

 

1) Global warming will lead to stronger and 

more frequent storms 

2) Global warming is not happening because 

we still have cold winters 

3) Global warming is fake news 

  By how much has the sea level risen during 

the 20th century? 

 

1) 17 cm 

2) 23 cm 

3) 5 cm 

  Where was the 2015 climate agreement 

signed? 

 

1) Paris 

2) London 

3) New York 



  Where around the world have we seen the 

greatest increase in CO2 emissions per per-

son? 

 

1) Middle East 

2) Southeast Asia 

3) North America 

  How many UN member states have ratified 

the 2015 Paris Agreement as of 2020? 

 

1) 190 out of 193 member states 

2) 120 out of 193 member states 

3) 90 out of 193 member states 

  By how much has the average global tempe-

rature increased since 1880? 

 

1) By 0.8 °C 

2) By 1 °C 

3) By 0.2 °C 

  By how much do we expect the sea levels to 

rise within the next 100 years? 

 

1) 1 meter (39.4 inches) 

2) 10 centimeters (3.94 inches) 

3) 20 centimeters (7.87 inches) 

  In which part of the world does it rain the 

most? 

 

1) Areas around the equator 

2) In the British Isles 

3) The Amazon 

  During which month does West Africa recei-

ve the most rain? 

 

1) July 

2) December 

3) October 

  The world's thickest ice sheet is in Antarcti-

ca. How thick is it? 

 

1) 2.5 kilometers (1.55 miles) 

2) 900 meters (0.56 miles) 

3) 200 meters (0.12 miles) 

  Which country produces the most meat per 

capita? 

 

1) Denmark 

2) New Zealand 

3) USA 
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  The Ross Sea is... 

 

1) The last intact marine ecosystem 

2) The most salted sea in the world 

3) A sea that will be gone by 2025 

  Which is the primary threat to the ocean's 

ecosystem? 

 

1) Unsustainable fishing 

2) Plastic 

3) Dirty water 

  The Citarum River is the most polluted river 

in the world. In which country is it? 

 

1) Indonesia 

2) India 

3) China 

  The Citarum River in Indonesia is the most 

polluted river in the world. What is one of its 

main source of pollution? 

 

1) Textile industry 

2) Automobile industry 

3) Food industry 

  How many marine species are considered to 

be critically endagered (at an extremely high 

risk of extinction in the wild)? 

 

1) 300 

2) 200 

3) 40 

  By which year is it estimated that plastic in 

the oceans will outweigh fish? 

 

1) 2050 

2) 2080 

3) 2090 

  Which country launched the first fully-

electric car ferry? 

 

1) Norway 

2) Canada 

3) New Zealand 

  What is the name of the deepest known 

point in the oceans - located in the Mariana 

Trench? 

 

1) Challenger Deep 

2) Bermuda Triangle 

3) Cape Horn 

  The oceans act as a natural filter. How much 

CO2 do they absorb? 

 

1) 30% 

2) 10% 

3) 50% 



  What activities are altering oceans in nume-

rous ways? 

 

1) Both 

2) Unregulated development & pollution 

3) Destructive fishing 

  How many people depend on coastal and 

marine biodiversity for their livelihoods? 

 

1) 3+ billion 

2) 1 billion 

3) None 

  What is considered the world’s largest eco-

system? 

 

1) The oceans 

2) The Forest system 

3) The solar system 

  What percentage of the oceans is heavily 

affected by pollution? 

 

1) 40% 

2) 10% 

3) 80% 

  How many plastic drinking bottles are 

purchased every minute? 

 

1) 1 million 

2) 50 million 

3) 10 million 

  How many of sea turtles are lost each year 

to overharvesting and illegal trade? 

 

1) Tens of thousands 

2) None 

3) Less than ten thousand 

  Do bees help the environment? 

 

1) Yes. They are important pollinators that 

help plants grow 

2) No. They just make honey 

3) Yes, because they eat other insects that 

are harmful to the plants 

  Do we have an international agreement to 

improve the protection and sustainable use 

of the world's oceans? 

 

1) Yes. 167 countries committed to such an 

agreement. It is called "UNCLOS" 

2) No. The countries of the world cannot yet 

agree on it 

3) Yes, but only 14 countries have com-

mitted to this agreement so far 

  What does "overfishing" mean? 

 

1) Too many fish are caught, so the fish do 

not manage to replenish themselves 

2) Use of bigger and bigger fishing boats 

3) Fishing more than needed 



  What is the "Ganges"? 

 

1) A river in India and Bangladesh 

2) A river in China 

3) The Chinese word for water pollution 

  What is the #1 cause of ocean pollution? 

 

1) Trash along beaches and within rivers 

2) Bathing and camping on the beach 

3) Fishing, shipping, and general boat traffic 

  How much of the arable land is dedicated to 

feeding farm animals in the European Uni-

on? 

 

1) 68% 

2) 74% 

3) 42% 

  If climate change and greenhouse gas emis-

sions continue at the current rate, when will 

the world's coral reefs be gone? 

 

1) 2050 

2) 2080 

3) 2100 

  What percentage of the global fish stocks 

are fully-fished (fully exploited)? 

 

1) Around 60% 

2) Around 40% 

3) Around 20% 

  How many people worldwide depend on 

marine and coastal biodiversity for their 

livelihoods? 

 

1) Over 3 billion 

2) Over 100 million 

3) About 1 billion 

  An area designated and effectively managed 

to protect marine ecosystems, processes, 

habitats, and species is called a… 

 

1) Marine Protected Area 

2) Forbidden Marine Area 

3) Guarded Marine Area 

  How many of all existing marine species do 

we think we have identified so far? 

 

1) About 14% 

2) About 54% 

3) About 84% 

  How much of the Earth's surface is covered 

by water? 

 

1) 71% 

2) 60% 

3) 50% 



  What is extremely dangerous for turtles? 

 

1) Plastic 

2) Tourists 

3) Fishermen 

  Why is plastic so dangerous to turtles? 

 

1) They mistake it for food 

2) They play with it and get hurt 

3) It is not dangerous to them 
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1)   

2)   

3)   

    

 

1)   

2)   

3)   



  Which is the most biodiverse place on 

Earth? 

 

1) The Amazon rainforest 

2) The Russian tundra 

3) The Mediterranean Sea 

  Which of the following animals is in serious 

danger of extinction due to Climate Change? 

 

1) Polar Bears 

2) Birds 

3) Black Bears 

  Species that develop out of their natural 

habitats are called... 

 

1) Invasive species 

2) Endangered species 

3) Natural species 

  Which of the following is a collapsed ecosy-

stem? 

 

1) The Aral Sea 

2) Caribbean Coral Reefs 

3) Amazon rainforest 

  What is biodiversity? 

 

1) The variety and variability of life on 

Earth 

2) The difference between species 

3) Intra species genetic variation 

  What animal provides 20% of animal protein 

to about 3 billion people? 

 

1) Fish 

2) Cows 

3) Chicken 

  What is the main driven of forest declinati-

on? 

 

1) Agricultural expansion 

2) Building football fields 

3) Construction of shopping malls 

  Which country has the highest biodiversity? 

 

1) Brazil 

2) Mexico 

3) Canada 

  Which animal was deemed a possible inter-

mediary animal that transferred the novel 

coronavirus to humans in 2019? 

 

1) Pangolin 

2) Elephant 

3) Lion 



  Which place is one of Earth’s last refuge for 

jaguars and pink dolphins, and home to 

thousands of birds and butterflies? 

 

1) The Amazon rainforest 

2) The Teak Forest of Burma 

3) The Cloud Forest of Singapore 

  The mass extinction of animal species taking 

place in the present day is primarily caused 

by... 

 

1) Human activities 

2) An increase in the number of predators 

3) Inbreeding 

  What is "poaching"? 

 

1) The illegal hunting of animals 

2) A way to boil an egg 

3) A specific promotion within military ranks 

  A community of living organisms and nonli-

ving components that interacts as a system 

is called a… 

 

1) Ecosystem 

2) Ecolife 

3) Organic life 

  What was the global human population 

growth in 2016? 

 

1) 1.20% 

2) 2.20% 

3) 3.20% 

  Which of these items has the highest value 

per kilo? 

 

1) Rhino horn, which is always harvested 

illegally 

2) Beef, which is most often harvested legal-

ly 

3) Gold, which is rarely harvested legally 

  Which state is the world's smallest measu-

red by area? 

 

1) Vatican 

2) Tuvalu 

3) San Marino 

  Which state is the world's largest measured 

by area? 

 

1) Russia 

2) Canada 

3) Japan 

  Which continent has the most countries? 

 

1) Africa 

2) Europe 

3) South America 



  Which country has the highest population 

density? 

 

1) Monaco 

2) Singapore 

3) Japan 

  Which country had the highest population 

growth rate in 2020? 

 

1) Niger 

2) Indonesia 

3) Mexico 

  If the world's population stood shoulder by 

shoulder, we would fill up the size of.... 

 

1) New York City 

2) Bahrain 

3) Ireland 

  Which of the following regions of the world 

is experiencing the highest population 

growth rate? 

 

1) Sub-Saharan Africa 

2) South Asia 

3) Middle East 

  How many of the world's land-based plant 

and animal species live in forests? 

 

1) 80% 

2) 15% 

3) 50% 

  How much food can an adult elephant eat in 

just a day? 

 

1) 136 kg (300 pounds) 

2) 58 kg (128 pounds) 

3) 105 kg (231 pounds) 

  How do trees help prevent accidents, dama-

ge, and potential harm? 

 

1) They help prevent desertification, floods, 

mudslides, etc. 

2) They can be used to build houses 

3) People can stand underneath them for 

shelter 

  When did the western black rhinoceros go 

extinct? 

 

1) 2011 

2) 1921 

3) 1954 

  Which country has experienced the greatest 

population growth since the year 1950? 

 

1) India 

2) Indonesia 

3) China 



  On which continent do most people live? 

 

1) Asia 

2) Africa 

3) Latin America 

  Forests are important in our fight against 

climate change, because... 

 

1) Trees absorb CO2 and produce oxygen 

2) Trees provide shelter during extreme 

weather 

3) We need trees and wood to make produ-

cts 
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  What is a whistleblower? 

 

1) A device used to prevent tsunamis 

2) An insect with a peculiar scream 

3) One who reveals secret information 

  What European institution is based in Stras-

bourg, France? 

 

1) The Secretariat of the European Union 

2) The European Central Bank 

3) The Council of Europe 

  Every right in the Universal Declaration of 

Human Rights has the same importance. 

 

1) They are listed in order of priority 

2) FALSE 

3) TRUE 

  Why can't governments not always return a 

refugee back to their home country? 

 

1) Because Governments doesn´t want to 

2) It would generate more travel pollution 

3) They are bound by international laws 

  Can the European Union vote on United 

Nations decisions? 

 

1) Only in matters concerning Europe 

2) Yes, and propose candidates 

3) No, the EU is a permanent observer 

  How many stateless people are there in the 

world today? 

 

1) None, stateless persons are protected by 

law 

2) More than 35 million people 

3) At least 10 million people 

  Who won the Nobel Peace Prize in 2020 

among others for its contribution to bette-

ring conditions for peace in conflict-affected 

areas? 

 

1) Barack H. Obama 

2) European Union (EU) 

3) World Food Programme (WFP) 

  The dove symbolizes peace. What does it 

have in its beak? 

 

1) Nothing 

2) Wheat 

3) An olive branch 

  What was the safest country in the world as 

of 2019? 

 

1) Switzerland 

2) Japan 

3) Iceland 



  Which of these countries is considered to be 

the most politically repressive country in the 

world? 

 

1) Iran 

2) Saudi Arabia 

3) North Korea 

  How many civilians worldwide are approxi-

mately killed every day as a result of armed 

conflicts? 

 

1) 1000 

2) 10 

3) 100 

  What was the approximate number of refu-

gees and internally displaced people fleeing 

wars and persecution as of 2019? 

 

1) 29.5 million 

2) 49.5 million 

3) 79.5 million 

  What has been the most dangerous country 

to live in since 2011? 

 

1) India 

2) Iraq 

3) Syria 

  What were the two least corrupt countries 

in the world in 2019? 

 

1) Iceland and Sweden 

2) Finland and Norway 

3) Denmark and New Zealand 

  What was the best ranked country regarding 

freedom of press in 2019? 

 

1) Germany 

2) Switzerland 

3) Norway 

  55% of all refugees in the world come from 

just three countries. One of them is Syria. 

The two others are... 

 

1) Yemen and Iraq 

2) Mali and Lebanon 

3) Afghanistan and South Sudan 

  Are there places around the world where it 

is still legal to recruit child soldiers? 

 

1) Yes. 4 countries still do not have laws that 

ban child soldiers 

2) No. In 1977, all countries agreed to a 

protocol banning child soldiers 

3) Yes. 50 countries do still not have laws 

that ban child soldiers 

  The UN consists of many specialized agenci-

es. Which of the following is not a UN agen-

cy? 

 

1) WHO - The World Health Organization 

2) WIPO - The World Intellectual Property 

Organization 

3) WWF - The World Wide Fund for Nature 

(or the World Wildlife Fund) 



  The number of people who die due to war 

and conflict has since the end of World War 

2 been... 

 

1) Remained about the same 

2) Rising 

3) Falling 

  The UN's Universal Declaration of Human 

Rights was signed in 1948 by all 56 member 

states at the time. How many languages has 

it been translated into since 1948? 

 

1) 100 

2) 50 

3) Over 500 

  In the aftermath of which major historical 

event did the international community sign 

the Universal Declaration of Human Rights? 

 

1) The discovery of the poliovirus 

2) The First World War 

3) The Second World War 

  The UN's Security Council has five perma-

nent members. Three of these permanent 

members are Russia, the USA, and the Uni-

ted Kingdom. The last two are... 

 

1) France and India 

2) Japan and China 

3) France and China 

  What color is the helmet of UN peacekee-

pers? 

 

1) Green 

2) White 

3) Blue 

  True or false: humanitarian crises never take 

place in rich developed countries. 

 

1) Humanitarian crises occur equally often in 

rich and poor countries 

2) TRUE 

3) FALSE 

  What does it mean that the UN is operating 

on a "consensus"? 

 

1) That all countries are welcome to become 

UN member states 

2) That the UN secretariat can overturn a 

decision if two-thirds of all member states 

agree 

3) That all member states have to agree 

before a decision is made 

  What is a "refugee"? 

 

1) A person who would rather want to live 

outside their home country 

2) A person who studies or works in another 

country than their home country 

3) A person who cannot return to their 

home country because of persecution or 

war 

  What is the name of the UN agency that 

works to help refugees and to ensure their 

safety and human rights? 

 

1) UNOPS 

2) UNICEF 

3) UNHCR 



  What is the United Nations Association? 

 

1) The UN's central administrative organ in 

which the UN secretariat can be found 

2) A labor union for present or past employ-

ees at the UN and its agencies 

3) A non-governmental organization (NGO) 

that aims to create awareness about the 

UN 

  What does the "UNHCR" stand for? 

 

1) The United Nations Health and Children's 

Regulations 

2) The United Nations Health Commission 

on Refugees 

3) The United Nations High Commissioner 

for Refugees 

  What is the purpose of the World Trade 

Organization? 

 

1) To remove tariffs and trade barriers 

2) To help with tax evasion and money laun-

dering 

3) To make trade regulations that are fair 

to all countries 

  What was the name of the UN's Secretary 

General as of 2018? 

 

1) Ban Ki-moon 

2) Kofi Annan 

3) António Guterres 

  Which of these countries experience the 

highest murder rates in the world? 

 

1) Romania 

2) South Africa 

3) Honduras 

  Globally, which of these scenarios is a hu-

man most likely to experience during their 

lifetime? 

 

1) Winning in lotto 

2) Being murdered 

3) Being forced into slavery 

  Which of these groups are most likely to 

take bribes worldwide? 

 

1) Military 

2) Health staff 

3) Police 

  Which of these countries is perceived as the 

most corrupt country? 

 

1) Brazil 

2) Russia 

3) Somalia 

  Which of the following is a description of a 

democracy? 

 

1) A country led by a king or queen who 

decides everything for its people 

2) A country led by a person who decides 

everything for its people 

3) A country led by a person who is chosen 

by its people 



  Which country is often considered to be the 

most democratic country in the world? 

 

1) Switzerland 

2) Belgium 

3) Norway 

  Which country has received the most refu-

gees per 1,000 inhabitants as of 2015? 

 

1) Germany 

2) Turkey 

3) Lebanon 

  Which country had the largest refugee po-

pulation in the world as of 2016? 

 

1) Germany 

2) Pakistan 

3) Turkey 

  What word is missing from the following 

sentence from The Universal Declaration of 

Human Rights: "Everyone has the right to 

life, ____, and security of person"? 

 

1) Shelter 

2) Wealth 

3) Liberty 

  Where is the UN headquarter located? 

 

1) Geneva, Switzerland 

2) London, UK 

3) New York City, USA 

  About how many countries can be conside-

red "full democracies", according to the 

Economist as of 2018? 

 

1) 60 

2) 40 

3) 20 

  How many articles are there in the UN's 

Universal Declaration of Human Rights? 

 

1) 50 

2) 20 

3) 30 

  How many children around the world can-

not go to school because of war and con-

flicts? 

 

1) 5 million 

2) 10 million 

3) 25 million 

  How many member states were there in the 

UN as of 2020? 

 

1) 100 

2) 56 

3) 193 



  One of the UN's main goals is to... 

 

1) Ensure economic growth around the 

world 

2) Ensure fair global trade 

3) Secure world peace and prevent future 

wars 

  Which day is the UN Day celebrated? 

 

1) May 24 

2) July 4 

3) October 24 

  Which UN agency works to preserve cultural 

and natural heritage by declaring specific 

sites "world heritage"? 

 

1) UNDP 

2) UNICEF 

3) UNESCO 

  How is the president of the UN Security 

Council chosen? 

 

1) The president is chosen by a simple majo-

rity 

2) The presidency rotates annually between 

the 5 permanent member states 

3) The presidency rotates monthly between 

the 15 member states 

  When did the European Union become a 

permanent observer in the UN? 

 

1) 2001 

2) 1945 

3) 1974 

  When was the United Nations created? 

 

1) 2002 

2) 1915 

3) 1945 

  When did the UN agree on the Universal 

Declaration of Human Rights? 

 

1) 1957 

2) 1929 

3) 1948 

  In a fully democratic country, the power is 

separated in three "branches" - the legislati-

ve, the judicial, and the executive. What 

branch represents the government? 

 

1) The judicial 

2) The executive 

3) The legislative 

  Can countries be forced to become a state 

member of the UN? 

 

1) Yes. All sovereign states are obliged to be 

a member of the UN 

2) No. But the EU has decided that all EU-

members also need to be members of the 

UN 

3) No. The individual countries decided for 

themselves 



  Can private persons apply for grants to the 

UN? 

 

1) Yes, but only if the private person is a 

resident in one of the world's 20 least deve-

loped countries 

2) Yes. Any private person who lives in a UN 

member state can apply for a grant 

3) No. Private persons cannot apply for 

grants to the UN 

  In all fully democratic countries, the power 

is separated in three "branches" - the legis-

lative, the judicial, and the executive bran-

ches. Why is it so? 

 

1) Because then the workload is distributed 

more evenly 

2) Because this is a tradition in Western 

countries and their way of governance since 

the 17th century 

3) Because the branches can control each 

other for misuse of power and corruption 

  For the UN to make a decision, the member 

states have to vote it first. How are the 

votes distributed among member states? 

 

1) Developed member states have more 

votes 

2) Member states with large population 

have more votes 

3) Each member state has 1 vote 

  When wars and conflicts break out, all pe-

ople are affected, but which groups are 

particularly vulnerable? 

 

1) Politicians 

2) Military personnel 

3) Women and children 

  The chances that a peace negotiation is 

respected in a longer period of time... 

 

1) Has nothing to do with the gender of the 

negotiating parties 

2) Will decrease, if women are a part of the 

peace negotiation process 

3) Will increase, if women are a part of the 

peace negotiation process 

  Do the majority of countries in the world 

have freedom of speech and freedom of the 

press? 

 

1) There are about an equal number with 

and within. 

2) Yes 

3) No 

  In the begining of 2020, the UNHCR determi-

ned that there were about 79.5 million 

refugees around the world. What percenta-

ge of these refugees were in the EU? 

 

1) 30% 

2) 20% 

3) 10% 

  The Universal Declaration of Human Rights 

was signed by the UN in 1948. What day is it 

celebrated? 

 

1) March 8 

2) New Year's Day 

3) December 10 

  Who can report a complaint to the UN's 

Human Rights Committee? 

 

1) Only the UN's Human Rights Council 

2) Only governments 

3) Anyone who experiences that their hu-

man rights are being violated 



  Which of these organizations is often menti-

oned in relation to human rights? 

 

1) Amnesty International 

2) Greenpeace 

3) Oxfam Ibis 

  From where does the UN get the money to 

do its work? 

 

1) The UN member states pay their share of 

the UN's total budget 

2) Private persons donate large sums of 

money to the UN 

3) The rich countries take turns paying for 

the UN's budget 

  Where around the world is there the grea-

test lack of documentations on newborns? 

 

1) Sub-Saharan Africa and South Asia 

2) North and South America 

3) Oceania and Central Asia 

  Complete the following sentence! The Glo-

bal Goals can only be met if we... 

 

1) Work together 

2) Compete 

3) Stay together 

  Coordinating policies to help developing 

countries manage their debt, are vital for... 

 

1) Sustainable growth and development 

2) Unsustainable growth 

3) Economic growth 

  SDGs goal 17 is important because it requi-

res... 

 

1) Involvement of all sectors of society 

2) Involvement of governments 

3) Involvement of schools 

  The UN's 17 Sustainable Development Goals 

(SDGs) are fundamentally different from the 

old 2015 Goals, because… 

 

1) They are signed by all countries and 

apply to all countries 

2) They are signed by all countries but apply 

only to developing countries 

3) They are mostly signed by developed 

countries and apply only to those countries 

  The UN's 17 Global Goals aim at committing 

countries to a more sustainable future. Who 

have signed the goals? 

 

1) All 193 member states of the UN (2015) 

2) 51 developing countries and 9 developed 

countries 

3) The member states of the UN Security 

Council 

  What are the Sustainable Development 

Goals (SDGs) 

 

1) A mission to ensure equality, dignity, 

and sustainability for all people around the 

world 

2) A strategy to make sure that all countries 

around the world are members of the UN by 

2030 

3) A mission to make all countries around 

the world wealthier 



  What is the "League of Nations"? 

 

1) The organization that preceded the Uni-

ted Nations 

2) A US lobby organization, that works to 

spread awareness of the UN 

3) A UN agency whose task it is to ensure 

that all UN member states comply with the 

human rights 

  What is the "World Court"? 

 

1) The International Court of Justice in the 

Hague, Netherlands. 

2) A law that makes it easier for a country to 

protect natural heritage sites 

3) The right to life, liberty, and security of 

person 

  What does "Fair Trade" mean? 

 

1) It means that the trade between produ-

cers and workers is fair 

2) That it is cheaper and more "fairer" to the 

consumer 

3) That it is healthier for you 

  What is the most important factor in rea-

ching the 17 Sustainable Development 

Goals? 

 

1) That countries, businesses, NGOs and 

civil society organizations work together 

2) That everyone can get wealthier from 

reaching the goals 

3) That the developed countries give most of 

their wealth as official development assi-

stance 

  Who needs to be involved for us to reach 

the 17 Sustainable Development Goals? 

 

1) Everyone - governments, businesses, 

NGOs, civil society organizations, etc. 

2) All governments and civil society organi-

zations 

3) All businesses and governments 

  Which of the following countries was not a 

state member of the UN as of 2020? 

 

1) Palestine 

2) South Sudan 

3) East Timor 

  What is the slogan of the Sustainable Deve-

lopment Goals? 

 

1) Leave no one behind 

2) We can do it 

3) Make the world great again 

  The UN's Global Goals are goals that con-

cern... 

 

1) All people in the world 

2) All poor people 

3) All people in the developed countries 

  There are 17 Sustainable Development 

Goals, but how many concrete targets are 

there within these Global Goals? 

 

1) 169 

2) 51 

3) 170 



  Why is it important that developed coun-

tries contribute with official development 

assistance (foreign aid)? 

 

1) It reduces the probability of humanitari-

an disasters, wars, and mass migration 

2) It is good for their reputation and helps 

them form new alliances 

3) It only benefits the developing countries' 

interest 

  When families living in poverty receive fi-

nancial aid, it is most likely that they spend 

it on... 

 

1) Education 

2) Food and water 

3) Clothes 

  When should the Sustainable Development 

Goals be reached according to the UN docu-

ment that all countries have signed? 

 

1) By 2030 

2) By 2050 

3) By 2100 

  Does official development assistance occur 

only from developed countries to develo-

ping countries? 

 

1) No, it happens between developing 

countries too 

2) Yes, the developing countries need help 

3) Yes, and it is mandatory by law 

  What is estimated as a sufficient amount of 

money to achieve the SDGs? 

 

1) 2% of world GDP 

2) 5% of world GDP 

3) 10% of world GDP 

  Goal 17 is basically about how... 

 

1) ...the other goals are to be financed and 

realized 

2) …the countries can maintain their friends-

hip 

3) …trading opportunities can be improved 

  Coordinating policies to help developing 

countries manage their debt is vital for… 

 

1) Sustainable growth and development 

2) Economic growth 

3) Innovation 


